Pt
20224 TREI H & B2 0 H SCH S E PR

( 20224E %)
T H 4K 20224 LAZIG H 45 3 2
FAEHI it SRR S AT it B 2 AR
YT | AEPES | SR paxicl AT 55y
4 AR R 4 SR 85. 858864 | 85.858864 85. 858864 10 100% 10
(it Horh: MERBURK — —
AR Y 4 _ —
Hofth ¥ 4 _ _
‘ A H b S S8 U
HERE
Efh 1 {2022 4545 kTR TR H WA BT Gtk W) L {2022 445 kTR TR H WA BT (ks )
Hx 2: {REE #5050 H IEH# 84T . 2: {RKE & T H IE #2847
53 I — i e ERERRARE | AESbRE p L IA A e i 22 5 TR 43-#7
e bR =Y dEbR o B axicl 5y /a5 ol
FEbR1: 52 R2021 44T 2T L RE IR H i 9% A 0 A 24 24 10 10 SERAEIE BT bR
Wk B, Wi K
Clogy | IR PR, B
7 B/ABRA/BxiZIE R
...... IHEIEST .
hRL: BiH (TR WihisR 100% 100% 10 10
Rt [ LA s bR
Ry R bR, TR « =
0 B 5043 5 4%
N RSB AR 100-
ﬁo febR1: TIH (TR 2 20224E12 | 20224E12H 10 10 28;’2 E;; 28:
O Lo <z Iy 0%kt
(1o4p) [ 2. Fi B
...... bR, SERUEILE]
fabrt, ci
v Grs RIEFIERR
bRl
_— it {f, FiB/ASK
ASERR [ g A/BXIZHETR M
Gogpy | fibee: Y "
4 ~
* fabrl: SRR BEOT I RE it e 10 10
GRS
i b (10| Hib2
o bR EhR2:
b )
...... 1. A AENESR
i e ooty . bR, WARYE =
Tabrl: $RTF AN EEE BB S A Tt ATt 10 10 R 45 5
T O Ak 25 ~
fié—xﬁ(nﬁ — HAFEARME 1100~
p | 1R (10| dEbR2: 80% (&) . 80
2 CR 50% (&) . 50—
bl 0%KAc 55«
¥ L 2. 5 NE AR
(40 | e T b5, SRR E
AR oo TR
sk Lo HkRe: IBEREL i
%) 5}: *K?Uﬁﬂ/i
...... . #%B/ARY
A/BX ZFEbRAME
Ei=70 B i e G L B T TV A prcks kg 10 10 &g
GIEsz5s
SmafRbR | HEbR2:
(1043
EE B4 % fabrl: BEAHEE 92% 95% 20 20
l,f/f' PR [ e IR T b A 4
(2‘0 ks 20 M T
Sy DN .
A 2 100 100
TE: L 85— R A R %R bR R

2. VMRS AR B OLY 9. IR RTUIIEAR . Mk IR R B A — R . RIS R EACREZE =1 2 IRIBFRE A 100-80% (5D  80-50% () . 50-0%& HLff
SESME-

3. EEARARATNIEFIEAR CBURAREA > 0, WA S-S50 RFSBRE (B /REIRARE (A xiZIRbRAME; B AR IR (RIFRAR A <), W5 F
BERRARE () /REIBME (B) X ZIRARME -

ATEAE “ORTERURE T —REP RIS S E AR ANRESE R E bR R B B A R G




